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by interest payments; preferred stockholders are compensated by fixed dividend
payments; and the firm’s remaining income belongs to its common stockholders
and serves to “pay the rent” on stockholders’ capital. Management may either pay
out earnings in the form of dividends or retain earnings for reinvestment in the
business. If part of the earnings is retained, an opportunity cost is incurred: Stock-
holders could have received those earnings as dividends and then invested that
money in stocks, bonds, real estate, and so on. Thus, the firm should earn on its
retained earnings at least as much as its stockbolders themselves could earn on
alternative investments of equivalent risk.

What rate of return can stockholders expect to earn on other investments of
equivalent risk? The answer is k;, because they can earn that return simply by
buying the stock of the firm in question or that of a similar firm. Therefore, if our
firm cannot invest retained earnings and earn at least k;, then it should pay those
earnings to its stockholders so that they can invest the money themselves in assets
that do provide a return of k.

Whereas debt and preferred stocks are contractual obligations which have eas-
ily determined costs, it is not at all easy to estimate k.. However, three methods
can be used: (1) the Capital Asset Pricing Model (CAPM), (2) the discounted cash
flow (DCF) model, and (3) the bond-yield-plus-risk-premium approach. These
methods should not be regarded as mutually exclusive—no one dominates the
others, and all are subject to error when used in practice. Therefore, when faced
with the task of estimating a company’s cost of equity, we generally use all three
methods and then choose among them on the basis of our confidence in the data
used for each in the specific case at hand.

SELF-TEST QUESTIONS -

What are the two types of common equity whose costs must be estimated?
Explain why there is a cost for retained earnings.

APPROACH

As we saw in Chapter 5, the Capital Asset Pricing Model is based on some unreal-
istic assumptions, and it cannot be empirically verified. Still, because of its logical
appeal, the CAPM is often used in the cost of capital estimation process.

Under the CAPM we assume that the cost of equity is equal to the risk-free
rate plus a risk premium that is based on the ‘stock’s beta coefficient and the market
risk premium as set forth in the Security Market Line (SML) equation:

k Risk-free rate + Risk premium

= Kge + (km — kge)b:

Given estimates of (1) the risk-free rate, kg, (2) the firm’s beta, b;, and (3) the
required rate of return on the market, ky, we can estimate the required rate of
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